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ANS 
1 lim

௫→ଵ

௅௢௚௫

௫ିଵ
  is  ……………. 

A. 0 
B. 1 
C. 2 
D. None of these 

B 

2 lim
௫→ହ

௫మିସ௫ିହ

௫మାଶ௫ିଷହ
   is …………. 

A. 0 
B. 5 
C. 0.5 
D. None of these 

C 

3 lim
௫→଻

௫మିଵ଴௫ାଶଵ

௫మିଵଶ௫ାଷହ
   is …………. 

A. 7 
B. 2 
C. 0 
D. None of these 

B 

4 lim
௫→଴

୲ୟ୬୶ି୶

୶ିୱ୧୬୶
   is …………. 

A. 0 
B. 2 
C. 0 
D. None of these 

B 

5 lim
௫→଻

௘ೣି ௘షೣିଶ௫

௫మ௦௜௡௫
   is …………. 

A. 0 
B. 1/3 
C. 1 
D. None of these 

B 

6 lim
௫→∞

௟௢௚௫

୶
   is …………. 

A. 0 
B. -1 
C. 1 
D. None of these 

A 

7 lim
௫→గ

୪୭୥ (గି௫)

௖௢௧௫
   is …………. 

A. 0 

A 



B. 𝜋 
C. -𝜋 
D. None of these 

 
8 lim

௫→଴

௖௢௦௘௖௫

௟௢௚௫
   is …………. 

A. 0 
B. ∞ 
C. -∞ 
D. None of these 

C 

9 lim
௫→଴

௟௢௚௫

௖௢௧௫
   is …………. 

A. 0 
B. ∞ 
C. -∞ 
D. None of these 

A 

10 lim
௫→଴

𝑥𝑙𝑜𝑔𝑥  is …………. 

A. 0 
B. 1 
C. ∞ 
D. None of these 

A 

11 lim
௫→଴

(1 − 𝑐𝑜𝑠𝑥)(𝑐𝑜𝑡𝑥)   is …………. 

A. 0 
B. 1 
C. -1 
D. None of these 

A 

12 lim
௫→଴

𝑠𝑖𝑛𝑥𝑙𝑜𝑔𝑥   is …………. 

A. 0 
B. 1 
C. -1 
D. None of these 

A 

13 lim
௫→଴

𝑡𝑎𝑛𝑥𝑙𝑜𝑔𝑥   is …………. 

A. 0 
B. 1 
C. -1 
D. None of these 

A 

14 lim
௫→଴

(𝑐𝑜𝑠𝑒𝑐𝑥 − 𝑐𝑜𝑡𝑥)   is …………. 

A. 0 
B. 1 
C. -1 
D. None of these 

A 

15 lim
௫→గ/ଶ

(𝑠𝑒𝑐𝑥 − 𝑡𝑎𝑛𝑥)   is …………. 

A. 1 

B 



B. 0 
C. -1 
D. None of these 

16 lim
௫→଴

𝑥௫    is …………. 

A. 1 
B. -1 
C. 0 
D. None of these 

A 

17 lim
௫→௔

(𝑥 − 𝑎)(௫ି௔)   is …………. 

A. 1 
B. -1 
C. 0 
D. None of these 

A 

18 lim
௫→଴

(𝑐𝑜𝑠𝑥)(௖௢௧௫)   is …………. 

A. 1 
B. -1 
C. 0  
D. None of these 

A 

19 lim
௫→గ/ଶ

(𝑠𝑖𝑛𝑥)(௧௔௡௫)   is …………. 

A. 1 
B. -1 
C. 0 
D. None of these 

A 

20 Every continuous function on closed and bounded interval is…….. 
A. bounded  
B. not bounded  
C. Can’t say 
D. None of these 

A 

21  Every differentiable function is continuous is… 
A.  True  
B. False 

A 

22  Every continuous function is differentiable is… 
A. True 
B. False 

B 

23 The function  f(x) =  |x| is ………at x = 0. 
A. Not continuous 
B. continuous but not differentiable 
C. neither continuous nor differentiable 
D. differentiable 

B 

24 The function f (x)  =  |x −  a| is ………at x = 0. 
A. Differentiable  
B. continuous but not differentiable 

B 



C. neither continuous nor differentiable 
D. Not continuous 

25 The function f (x)  =  |x −  1| is ………at x = 0. 
A. neither continuous nor differentiable 
B. both continuous and differentiable 
C. continuous but not differentiable  
D. differentiable but not continuous 

C 

26 The function 𝑥𝑠𝑖𝑛
ଵ

௫
  is ………at x = 0. 

A. both continuous and differentiable  
B.  neither continuous nor differentiable 
C. differentiable but not continuous 
D.  continuous but not differentiable 

D 

27 By Rolle’s Theorem if a function f (x) defined on [a, b] is 
i) continuous in [a, b], ii) derivable in (a, b) and iii) f (a) = f (b). 
Then there exists some c ∈ (a, b) such that ………... 

A.  f '(c) = 0  
B.  f '(c) ≠ 0  
C.  f '(c) < 0  
D.  f '(c) > 0 

A 

28 Using Rolle’s theorem for the function 𝑥ଶ − 1 in [-1, 1] the value of c is….. 
A. -1  
B. 1  
C.  0  
D.  None of these 

C 

29 Using Rolle’s theorem for the function 𝑥ଶ − 6𝑥 + 5 in [1, 5] the value of c is….. 
A.  3  
B.  1  
C.  5  
D.  None of these 

A 

30 Using Rolle’s theorem for the function 𝑥ଶ + 2𝑥 − 8  in [-4, 2] the value of c 
is…. 

A.  -4  
B.  2  
C.  -1  
D. None of these 

C 

31 Using Lagranges’s M. V. T. for the function 1 − 𝑥ଶ in [1, 2] the value of c is….. 
A.  1  
B.  1.5 
C.  2  
D.  None of these 

B 

32 Using Lagranges’s M. V. T. for the function 𝑥ଶ − 4𝑥 + 3 in [1, 4] the value of c 
is.. 

A. 2.5 

A 



B.  1  
C.  4  
D. None of these 

33 A function f (x) is said to be monotonic increasing function if x1 < x2 ⟹ …….. 
A.  f (x1) < f (x2)  
B.  f (x1) > f (x2)  
C.  f (x1) = f (x2)  
D. None of these 

A 

34 A function f (x) is said to be monotonic decreasing function if x1 < x2 ⟹ …….. 
A.  f (x1) < f (x2)  
B.  f (x1) > f (x2)  
C.  f (x1) = f (x2)  
D. None of these 

B 

35 The function f (x) = 7x – 3 is …………function on R. 
A.  strictly increasing 
B.  strictly decreasing 
C.  Neither decreasing nor increasing 
D. None of these 

A 

36 The function f (x) = ax + b, where a, b are constant and a > 0 is ……function on R. 
A.  strictly increasing 
B.  strictly decreasing 
C.  Neither decreasing nor increasing 
D. None of these 

A 

37 The function f (x) = x2 is …………function in (-∞, 0). 
A.  strictly increasing 
B.  strictly decreasing 
C.  Neither decreasing nor increasing 
D. None of these 

B 

38 A function f (x) is monotonic increasing function if ………∀ x ∈ (a, b) 
A. f '(x) > 0  
B.  f '(x) < 0  
C.  f '(x) = 0  
D.  f '(x) ≠ 0 

A 

39 A function f (x) is monotonic decreasing function if ………∀ x ∈ (a, b) 
A. f '(x) > 0  
B.  f '(x) < 0  
C.  f '(x) = 0  
D.  f '(x) ≠ 0 

B 

40 By using Cauchy’s Mean Value Theorem for the functions f (x)  =  𝑒௫ 
and g (x) =  𝑒ି௫ in [a, b], the value of c is ……. 

A.  ௔ା௕

ଶ
 

B.  a  
C.  b  

A 



D.  None of these 

41 True or False . lim
௫→ଵ

ൣ𝑥(௫ିଵ)൧ = 𝑒 

A)True 
B)False 

A 

42 True or False . lim
ఏ→଴

ୱ୧୬ ఏ

ఏ
= 1 

A)True 
B)False 

 

A 

43 True or False . lim
ఏ→଴

୲ୟ୬ ఏ

ఏ
= 1 

A)True 
B)False 

A 

44 True or False .     𝑓(𝑥) = |𝑥| is continuous at x=0 
A)True 
B)False 

A 

45  True or False .  𝑓(𝑥) = |𝑥| is not continuous at x=0 
A)True 
B)False 

B 

46 True or False . lim
௫→௔

௫೙ି௔೙

௫ି௔
= 𝑛𝑎௡ିଵ 

A)True 
B)False 

 

A 

47 True or False . lim
௫→଴

௔೙ିଵ

௫
= log 𝑎 

A)True 
B)False 

 

A 

48 True or False . lim
௫→଴

௘ೣିଵ

௫
= 1 

A)True 
B)False 

A 

49 True or False . lim
௫→଴

(1 + 𝑥)
భ

ೣ = 𝑒 

A)True 
B)False 

A 



 
50 True or False . lim

௫→ஶ

௞

௫೛
= 0 (𝑝 > 0) 

A)True 
B)False 

 

A 

51 The process of differentiating the same function again and again is  
called ………. 
     A) successive integration                     B) differentiation 
     C) successive differentiation               D) integration 
 
 

( C ) 

52 If 𝑦 = 𝑥௠ then for 𝑚 > 𝑛, 𝑦௡ = ……….   
     A) ௠!

(௠ି௡)!
𝑥௠ି௡                                       B) 𝑛! 

     C) 0                                                           D) None of these 
 

( A ) 

53 

If 𝑦 = 𝑥௡ then 𝑦௡ = ……….. 
     A) 0                                                          B) 𝑛 
     C) 𝑛!                                                         D) 𝑛𝑥௡ିଵ 
 

( C ) 

54 

If 𝑦 = 𝑥௠ then for 𝑚 < 𝑛, 𝑦௡ = ……….   
     A) 𝑚                                                        B) 0 
     C)  𝑛                                                        D) 𝑛! 
 

( B ) 

55 

If 𝑦 = (𝑎𝑥 + 𝑏)௠ then for 𝑚 > 𝑛, 𝑦௡ = ………. 

     A) ௠!௔೙

(௠ି௡)!
(𝑎𝑥 + 𝑏)௠ି௡                        B) 𝑛! 𝑎௡ 

     C) 0                                                          D) None of these 
 

( A ) 

56 

If 𝑦 = (𝑎𝑥 + 𝑏)௡ then  𝑦௡ = ………. 
     A) 𝑛                                                          B) 𝑛! 𝑎௡ 
     C) 0                                                           D) None of these 
 

( B ) 

57 

If 𝑦 = (𝑎𝑥 + 𝑏)௠ then for 𝑚 < 𝑛, 𝑦௡ = ………. 

     A) ௠!௔೙

(௠ି௡)!
(𝑎𝑥 + 𝑏)௠ି௡                        B) 𝑛! 𝑎௡ 

     C) 0                                                          D) None of these 
 

( C ) 

58 If 𝑦 = 𝑒௔௫ then 𝑦௡ = ……….  ( C ) 



     A) 𝑒௔௫                                                      B) 𝑎𝑒௔௫ 
     C)  𝑎௡𝑒௔௫                                                D) 𝑎ଶ𝑒௔௫ 
 

59 

If 𝑦 = 𝑒ହ௫ then 𝑦ଷ = ……….  
     A) 5𝑒ହ௫                                                   B) 25𝑒ହ௫ 
     C) 125𝑒ହ௫                                              D) 𝑒ହ௫ 
 

( C ) 

60 

If 𝑦 = 𝑒௔௫ା௕ then 𝑦௡ = ……….  
     A) 𝑒௔௫ା௕                                                 B) a𝑒௔௫ା௕ 
     C) 𝑒௔௫                                                     D) 𝑎௡𝑒௔௫ା௕ 
 

( D ) 

61 

If 𝑦 =
ଵ

௔௫ା௕
 then 𝑦௡ = …………. 

     A) ௡!௔೙

(௔௫ା௕)೙శభ
                                           B) 

(ିଵ)೙௡!௔೙

(௔௫ା௕)೙
 

     C) ௡!௔೙

(௔௫ା௕)೙
                                               D) 

(ିଵ)೙௡!௔೙

(௔௫ା௕)೙శభ
 

 

( D ) 

62 

If 𝑦 =
ଵ

௫ା௔
 then 𝑦௡ = …………. 

     A) 
(ିଵ)೙௡!

(௫ା ௔)೙శభ
                                            B) 

(ିଵ)೙௡!

(௫ା௔)೙
 

     C) 
(ିଵ)೙௡!

(௫ା௔)೙షభ
                                             D) None of these 

 

( A ) 

63 

If 𝑦 =
ଵ

௫ି௔
 then 𝑦௡ = …………. 

     A) 
(ିଵ)೙௡!

(௫ି ௔)೙శభ
                                            B) ௡!

(௫ା௔)೙శభ
 

     C) ଵ

(௫ା௔)೙షభ
                                             D) ିଵ

(௫ି௔)మ
 

 

( A ) 

64 

If log (𝑎𝑥 + 𝑏) then 𝑦௡ = …………. 

     A) ଵ

(௔௫ା௕)మ
                                              B) 

(ିଵ)೙

(௔௫ା௕)೙శభ
 

     C) 
(ିଵ)೙௡!௔೙

(௔௫ା௕)೙శభ
                                           D) 

(ିଵ)೙షభ(௡ିଵ)!௔೙

(௔௫ା௕)೙
 

 

( D ) 

65 

If log (𝑥 + 5) then 𝑦௡ = …………. 

     A) ଵ

௫ାହ
                                                     B) 

(ିଵ)೙షభ

(௫ାହ)೙
 

     C) (௡ିଵ)!

(௫ାହ)೙
                                                 D) 

(ିଵ)೙షభ(௡ିଵ)!

(௫ାହ)೙
 

 

( D ) 

66 If 𝑦 = sin (𝑎𝑥 + 𝑏) then 𝑦௡ = …………. ( A ) 



     A) 𝑎௡ sin(𝑎𝑥 + 𝑏 +
௡గ

ଶ
)                      B) 𝑎 sin(𝑎𝑥 + 𝑏) 

     C) 𝑎௡ cos(𝑎𝑥 + 𝑏 +
௡గ

ଶ
)                      D) 𝑎 cos(𝑎𝑥 + 𝑏) 

 

67 

If 𝑦 = sin (3𝑥) then 𝑦௡ = …………. 
     A) 3௡ sin(3𝑥 +

௡గ

ଶ
)                              B) 3 sin(3𝑥) 

     C) 3௡ cos(3𝑥 +
௡గ

ଶ
)                              D) 3 cos(3𝑥) 

  

( A ) 

68 

If 𝑦 = 𝑐𝑜𝑠 (𝑎𝑥 + 𝑏) then 𝑦௡ = …………. 
     A) 𝑎௡ cos(𝑎𝑥 + 𝑏 +

௡గ

ଶ
)                      B) 𝑎 sin(𝑎𝑥 + 𝑏) 

     C) 𝑎௡ sin(𝑎𝑥 + 𝑏 +
௡గ

ଶ
)                       D) 𝑎 cos(𝑎𝑥 + 𝑏) 

 

( A ) 

69 

If 𝑦 = cos(3𝑥) then 𝑦ଶ = …………. 
     A) −3 sin 3𝑥                                          B) −9 cos 3𝑥 
     C) − sin 3𝑥                                             D) − cos 3𝑥 
 

( B ) 

70 

If 𝑦 = 𝑒௔௫sin (𝑏𝑥 + 𝑐) then 𝑦௡ = …………. 
     A) ൫√𝑎ଶ + 𝑏ଶ൯

௡
𝑒௔௫ cos(𝑏𝑥 + 𝑐)  

     B) ൫√𝑎ଶ + 𝑏ଶ൯
௡

𝑒௔௫ cos(𝑏𝑥 + 𝑐 + 𝑛𝑡𝑎𝑛ିଵ ௕

௔
)                                                                

     C) ൫√𝑎ଶ + 𝑏ଶ൯
௡

𝑒௔௫ sin(𝑏𝑥 + 𝑐)                                             

     D) ൫√𝑎ଶ + 𝑏ଶ൯
௡

𝑒௔௫ sin(𝑏𝑥 + 𝑐 + 𝑛𝑡𝑎𝑛ିଵ ௕

௔
) 

 

( D ) 

53 

The process of differentiating the same function again and again is  
called ………. 
     A) successive integration                     B) differentiation 
     C) successive differentiation               D) integration 
 

( C ) 

54 

If 𝑦 = 𝑥௠ then for 𝑚 > 𝑛, 𝑦௡ = ……….   
     A) ௠!

(௠ି௡)!
𝑥௠ି௡                                       B) 𝑛! 

     C) 0                                                           D) None of these 
 

( A ) 

55 

If 𝑦 = 𝑥௡ then 𝑦௡ = ……….. 
     A) 0                                                          B) 𝑛 
     C) 𝑛!                                                         D) 𝑛𝑥௡ିଵ 
 

( C ) 

56 If 𝑦 = 𝑥௠ then for 𝑚 < 𝑛, 𝑦௡ = ……….   ( B ) 



     A) 𝑚                                                        B) 0 
     C)  𝑛                                                        D) 𝑛! 
 

57 

If 𝑦 = (𝑎𝑥 + 𝑏)௠ then for 𝑚 > 𝑛, 𝑦௡ = ………. 

     A) ௠!௔೙

(௠ି௡)!
(𝑎𝑥 + 𝑏)௠ି௡                        B) 𝑛! 𝑎௡ 

     C) 0                                                          D) None of these 
 

( A ) 

58 

If 𝑦 = (𝑎𝑥 + 𝑏)௡ then  𝑦௡ = ………. 
     A) 𝑛                                                          B) 𝑛! 𝑎௡ 
     C) 0                                                           D) None of these 
 

( B ) 

59 

If 𝑦 = (𝑎𝑥 + 𝑏)௠ then for 𝑚 < 𝑛, 𝑦௡ = ………. 

     A) ௠!௔೙

(௠ି௡)!
(𝑎𝑥 + 𝑏)௠ି௡                        B) 𝑛! 𝑎௡ 

     C) 0                                                          D) None of these 
 

( C ) 

60 

If 𝑦 = 𝑒௔௫ then 𝑦௡ = ……….  
     A) 𝑒௔௫                                                      B) 𝑎𝑒௔௫ 
     C)  𝑎௡𝑒௔௫                                                D) 𝑎ଶ𝑒௔௫ 
 

( C ) 

61 

If 𝑦 = 𝑒ହ௫ then 𝑦ଷ = ……….  
     A) 5𝑒ହ௫                                                   B) 25𝑒ହ௫ 
     C) 125𝑒ହ௫                                              D) 𝑒ହ௫ 
 

( C ) 

62 

If 𝑦 = 𝑒௔௫ା௕ then 𝑦௡ = ……….  
     A) 𝑒௔௫ା௕                                                 B) a𝑒௔௫ା௕ 
     C) 𝑒௔௫                                                     D) 𝑎௡𝑒௔௫ା௕ 
 

( D ) 

63 

If 𝑦 =
ଵ

௔௫ା௕
 then 𝑦௡ = …………. 

     A) ௡!௔೙

(௔௫ା௕)೙శభ
                                           B) 

(ିଵ)೙௡!௔೙

(௔௫ା௕)೙
 

     C) ௡!௔೙

(௔௫ା௕)೙
                                               D) 

(ିଵ)೙௡!௔೙

(௔௫ା௕)೙శభ
 

 

( D ) 

64 

If 𝑦 =
ଵ

௫ା௔
 then 𝑦௡ = …………. 

     A) 
(ିଵ)೙௡!

(௫ା ௔)೙శభ
                                            B) 

(ିଵ)೙௡!

(௫ା௔)೙
 

     C) 
(ିଵ)೙௡!

(௫ା௔)೙షభ
                                             D) None of these 

 

( A ) 



65 

If 𝑦 =
ଵ

௫ି௔
 then 𝑦௡ = …………. 

     A) 
(ିଵ)೙௡!

(௫ି ௔)೙శభ
                                            B) ௡!

(௫ା௔)೙శభ
 

     C) ଵ

(௫ା௔)೙షభ
                                             D) ିଵ

(௫ି௔)మ
 

 

( A ) 

66 

If log (𝑎𝑥 + 𝑏) then 𝑦௡ = …………. 

     A) ଵ

(௔௫ା௕)మ
                                              B) 

(ିଵ)೙

(௔௫ା௕)೙శభ
 

     C) 
(ିଵ)೙௡!௔೙

(௔௫ା௕)೙శభ
                                           D) 

(ିଵ)೙షభ(௡ିଵ)!௔೙

(௔௫ା௕)೙
 

 

( D ) 

67 

If log (𝑥 + 5) then 𝑦௡ = …………. 

     A) ଵ

௫ାହ
                                                     B) 

(ିଵ)೙షభ

(௫ାହ)೙
 

     C) (௡ିଵ)!

(௫ାହ)೙
                                                 D) 

(ିଵ)೙షభ(௡ିଵ)!

(௫ାହ)೙
 

 

( D ) 

68 

If 𝑦 = sin (𝑎𝑥 + 𝑏) then 𝑦௡ = …………. 
     A) 𝑎௡ sin(𝑎𝑥 + 𝑏 +

௡గ

ଶ
)                      B) 𝑎 sin(𝑎𝑥 + 𝑏) 

     C) 𝑎௡ cos(𝑎𝑥 + 𝑏 +
௡గ

ଶ
)                      D) 𝑎 cos(𝑎𝑥 + 𝑏) 

 

( A ) 

69 

If 𝑦 = sin (3𝑥) then 𝑦௡ = …………. 
     A) 3௡ sin(3𝑥 +

௡గ

ଶ
)                              B) 3 sin(3𝑥) 

     C) 3௡ cos(3𝑥 +
௡గ

ଶ
)                              D) 3 cos(3𝑥) 

  

( A ) 

70 

If 𝑦 = 𝑐𝑜𝑠 (𝑎𝑥 + 𝑏) then 𝑦௡ = …………. 
     A) 𝑎௡ cos(𝑎𝑥 + 𝑏 +

௡గ

ଶ
)                      B) 𝑎 sin(𝑎𝑥 + 𝑏) 

     C) 𝑎௡ sin(𝑎𝑥 + 𝑏 +
௡గ

ଶ
)                       D) 𝑎 cos(𝑎𝑥 + 𝑏) 

 

( A ) 

71 

If 𝑦 = cos(3𝑥) then 𝑦ଶ = …………. 
     A) −3 sin 3𝑥                                          B) −9 cos 3𝑥 
     C) − sin 3𝑥                                             D) − cos 3𝑥 
 

( B ) 

72 

If 𝑦 = 𝑒௔௫sin (𝑏𝑥 + 𝑐) then 𝑦௡ = …………. 
     A) ൫√𝑎ଶ + 𝑏ଶ൯

௡
𝑒௔௫ cos(𝑏𝑥 + 𝑐)  

     B) ൫√𝑎ଶ + 𝑏ଶ൯
௡

𝑒௔௫ cos(𝑏𝑥 + 𝑐 + 𝑛𝑡𝑎𝑛ିଵ ௕

௔
)                                                                

     C) ൫√𝑎ଶ + 𝑏ଶ൯
௡

𝑒௔௫ sin(𝑏𝑥 + 𝑐)                                             

( D ) 



     D) ൫√𝑎ଶ + 𝑏ଶ൯
௡

𝑒௔௫ sin(𝑏𝑥 + 𝑐 + 𝑛𝑡𝑎𝑛ିଵ ௕

௔
) 

 

73 

1 + 𝑥 +
௫మ

ଶ!
+

௫య

ଷ!
+ ⋯ ⋯ ⋯ +

௫೙

௡!
+ ⋯ ⋯ is Maclaurin’s series 

expansion of ……… 
      A) sin 𝑥                                   B) 𝑒௫ 
      C) cos 𝑥                                   D) ଵ

ଵ ି ௫
 

 

( B ) 

74 

𝑥 −
௫య

ଷ!
+

௫ఱ

ହ!
−

௫ళ

଻!
+ ⋯ ⋯ is Maclaurin’s series expansion of ……… 

      A) sin 𝑥                                   B) 𝑒௫ 
      C) cos 𝑥                                   D) ଵ

ଵ ି ௫
 

 

( A ) 

75 

1 −
௫మ

ଶ!
+

௫ర

ସ!
−

௫ల

଺!
+ ⋯ ⋯ is Maclaurin’s series expansion of ……… 

      A) sin 𝑥                                   B) 𝑒௫ 
      C) cos 𝑥                                   D) ଵ

ଵ ି ௫
 

 

( C ) 

76 

1 + 𝑥 + 𝑥ଶ + 𝑥ଷ + ⋯ ⋯ ⋯ + 𝑥௡ + ⋯ ⋯ is Maclaurin’s series 
expansion of ……… 
      A) sin 𝑥                                   B) 𝑒௫ 
      C) cos 𝑥                                   D) ଵ

ଵ ି ௫
 

 

( D ) 

77 

1 − 𝑥 + 𝑥ଶ − 𝑥ଷ + ⋯ ⋯ ⋯ + (−1)௡𝑥௡ + ⋯ ⋯ is Maclaurin’s series 
expansion of ……… 
      A) ଵ

ଵା௫
                                      B) ଵ

ଵ ି ௫
 

      C) tan 𝑥                                   D) sec 𝑥  
 

( A ) 

78 

1 + 𝑥 −
௫య

ଷ
−

௫ర

଺
−

௫ఱ

ଷ଴
+ ⋯ ⋯  is Maclaurin’s series expansion  

of ……… 
      A) 𝑒௫cos 𝑥                              B) 𝑒௫ sin 𝑥 
      C) tan 𝑥                                   D) sec 𝑥 
 

( A ) 

79 

By reduction formula ∫ 𝑠𝑖𝑛௡𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ∫ 𝑠𝑖𝑛௡ିଶ𝑥 𝑑𝑥
ഏ

మ
଴

                  B) ∫ 𝑠𝑖𝑛௡ିଵ𝑥 𝑑𝑥
ഏ

మ
଴

 

      C) ௡ିଵ

௡
∫ 𝑠𝑖𝑛௡ିଶ𝑥 𝑑𝑥

ഏ

మ
଴

           D) ௡

௡ିଵ
∫ 𝑠𝑖𝑛௡ିଶ𝑥 𝑑𝑥

ഏ

మ
଴

           

( C ) 



 
 
 

80 

∫ 𝑠𝑖𝑛ହ𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) 0                                         B) ଼

ଵହ
 

      C) 5𝜋                                      D) ଼గ

ଵହ
           

 

( B ) 

81 

∫ 𝑠𝑖𝑛଺𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ହగ

ଷଶ
                                       B) ଼గ

ଵହ
 

      C) ହ

ଷଶ
                                        D) ଼

ଵହ
           

 

( A ) 

82 

By reduction formula for ∫ 𝑐𝑜𝑠௡𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ∫ 𝑐𝑜𝑠௡ିଶ𝑥 𝑑𝑥
ഏ

మ
଴

                 B) ∫ 𝑐𝑜𝑠௡ିଵ𝑥 𝑑𝑥
ഏ

మ
଴

 

      C) ௡ିଵ

௡
∫ 𝑐𝑜𝑠௡ିଶ𝑥 𝑑𝑥

ഏ

మ
଴

           D) ௡

௡ିଵ
∫ 𝑐𝑜𝑠௡ିଶ𝑥 𝑑𝑥

ഏ

మ
଴

 
 

( C ) 

83 

∫ 𝑐𝑜𝑠଻𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ହగ

ଷଶ
                                       B) ଼గ

ଵହ
 

      C) ଵ଺

ଷହ
                                       D) ଼

ଵହ
           

 

( C ) 

84 

∫ 𝑠𝑖𝑛଼𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ଷହ

ଶହ଺
                                     B) ଼గ

ଵହ
 

      C) ଵ଺

ଷହ
                                       D) ଷହ

ଶହ଺
 

 

( A ) 

85 

∫ 𝑠𝑖𝑛ଽ𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ଷହ

ଶହ଺
                                     B) ଵଶ଼గ

ଷଵହ
 

      C) ଵଶ଼

ଷଵହ
                                      D) ଷହ

ଶହ଺
 

 

( C ) 

86 

∫ 𝑐𝑜𝑠ଵ଴𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ଺ଷగ

ହଵଶ
                                     B) ଵଶ଼గ

ଷଵହ
 

( A ) 



      C) ଵଶ଼

ଷଵହ
                                      D) ଺ଷ

ହଵଶ
 

 
 
 

87 

∫ 𝑠𝑖𝑛଺3𝑥 𝑑𝑥 =
ഏ

ల
଴

 ………… 

      A) ହగ

ଷଶ
                                       B) ହగ

ଽ଺
 

      C) ଵ଺

ଷହ
                                       D) ଼

ଵହ
 

 

( B ) 

88 

∫ 𝑐𝑜𝑠଻ ௫

ଶ
 𝑑𝑥 =

గ

଴
 ………… 

      A) ହగ

ଷଶ
                                       B) ହగ

ଽ଺
 

      C) ଷଶ

ଷହ
                                       D) ଼

ଵହ
 

 

( C ) 

89 

By reduction formula  ∫ 𝑠𝑖𝑛௠𝑥. 𝑐𝑜𝑠௡𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ∫ 𝑠𝑖𝑛௠𝑥. 𝑐𝑜𝑠௡ିଶ𝑥 𝑑𝑥
ഏ

మ
଴

        B) ௠ିଵ

௠ା௡
∫ 𝑠𝑖𝑛௠ିଶ𝑐𝑜𝑠௡ିଵ𝑥 𝑑𝑥

ഏ

మ
଴

 

      C) ௠ାଵ

௠ା௡
∫ 𝑠𝑖𝑛௠ିଶ𝑐𝑜𝑠௡𝑥 𝑑𝑥

ഏ

మ
଴

    D) ௡ାଵ

௠ା௡
∫ 𝑠𝑖𝑛௠ିଶ𝑐𝑜𝑠௡𝑥 𝑑𝑥

ഏ

మ
଴

 
 

( B ) 

90 

∫ 𝑠𝑖𝑛ସ𝑥. 𝑐𝑜𝑠଺𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ଷగ

ହଵଶ
                                     B) ହగ

ସଽ଺
 

      C) ଷଶ

ହଵଶ
                                     D) ଵ

ଶହ଺
 

 

( A ) 

91 

∫ 𝑠𝑖𝑛ଷ𝑥. 𝑐𝑜𝑠଺𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ଷగ

ହଵଶ
                                     B) ହగ

ସଽ଺
 

      C) ଶ

଺ଷ
                                       D) ଵ

ଶହ଺
 

 

( C ) 

92 

∫ 𝑠𝑖𝑛ସ𝑥. 𝑐𝑜𝑠ହ𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ଷగ

ହଵଶ
                                     B) ଼

ଷଵହ
 

      C) ଶ

଺ଷ଴
                                     D) ଵ

ଶହ଺
 

 
 

( B ) 



93 

∫ 𝑐𝑜𝑠ହ𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) 0                                         B) ଼

ଵହ
 

      C) 5𝜋                                      D) ଼గ

ଵହ
           

 

( B ) 

94 

∫ 𝑐𝑜𝑠଺𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ହగ

ଷଶ
                                       B) ଼గ

ଵହ
 

      C) ହ

ଷଶ
                                        D) ଼

ଵହ
           

 

( A ) 

95 

∫ 𝑐𝑜𝑠ସ𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) 0                                         B) ଼

ଵହ
 

      C) 5𝜋                                      D) ଷగ

ଵ଺
           

 

( D ) 

96 

∫ 𝑠𝑖𝑛ସ𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) 0                                         B) ଼

ଵହ
 

      C) 5𝜋                                      D) ଷగ

ଵ଺
           

 

( D ) 

97 

∫ 𝑐𝑜𝑠ସ𝑥. 𝑠𝑖𝑛଺𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ଷగ

ହଵଶ
                                     B) ହగ

ସଽ଺
 

      C) ଷଶ

ହଵଶ
                                     D) ଵ

ଶହ଺
 

 

( A ) 

98 

∫ 𝑐𝑜𝑠଺𝑥. 𝑠𝑖𝑛଺𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ହగ

ଶ଴ସ଼
                                     B) ହగ

ସଽ଺
 

      C) ଷଶ

ହଵଶ
                                     D) ଵ

ଶହ଺
 

 

( A ) 

99 

∫ 𝑐𝑜𝑠ଶ𝑥. 𝑠𝑖𝑛ଶ𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) గ

ଵ଺
                                     B) ହగ

ସଽ଺
 

      C) ଷଶ

ହଵଶ
                                     D) ଵ

ଶହ଺
 

 

( A ) 



100 

∫ 𝑐𝑜𝑠ଶ𝑥. 𝑠𝑖𝑛଼𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) ଻గ

ହଵଶ
                                     B) ହగ

ସଽ଺
 

      C) ଷଶ

ହଵଶ
                                     D) ଵ

ଶହ଺
 

 

( A ) 

101 

∫ 𝑠𝑖𝑛ହ𝑥𝑐𝑜𝑠଴𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) 0                                         B) ଼

ଵହ
 

      C) 5𝜋                                      D) ଼గ

ଵହ
           

 

( B ) 

102 

∫ 𝑠𝑖𝑛ଷ𝑥 𝑑𝑥 =
ഏ

మ
଴

 ………… 

      A) 0                                         B) ଼

ଵହ
 

      C) 5𝜋                                      D) ଶ
ଷ
           

 

( D ) 

 


